AP Calculus AB *19-20 Name__ ot unsl Kz,
Anti-Derivative Test =

Score

1. Which of the following statements are true?

W
@ f(tanu)d,f=ln]secu|+c @ _[csczudu=cotu+c T

TH. M\Miix?} dx:%(4—-x2)%)‘+c

ey
= =4z
I only b) Monly c¢) III only@l and IT e) Il and IIT only
2 Jexcos(ex+1)dx = JCQBL&&W: i Bl
a) e"sin(ex+l)+c sin(e"+1)+c c) e"sin(e"+x)+c
d) —é—cosz(e" +1)+c e) None of these
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Which of the following differential equations corresponds to the slope field

shown in the figure below?
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Which of the slope field shown below corresponds to y
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5. A function y = f(x) has derivative % = 4x\[_)_/ , with /(0)=1. Which of
these is f(x)?

-\,
a) y=e* +1 5&&1: o ds
b) y=x22+ 11 2 ZQVL = I+l _1?(0*\ 942 0tC

Gt | v

e) y=(x+1)% 2y o Z2xnl

LSVZ’“—' <12 |

‘3 = (<= ‘\Z
6. A particle is moving upward along the y-axis until it reaches the origin and

then it moves downward such that v(r)=8—2¢ for >0. The position of the

particle at time t is given by

y(t)=—1"+8-16 b)  y(t)=-1*+81+16 V=0~ =Y
C

y(t)=21*-8t-16 @ y(t)=8t—12
e) y(t)=8r-27*

X (e = 3L- oty )
O =~ BlO-r+c = &= e

Bl
NB)= - Tes b
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><‘ If Zx_y =sinxcos’x and if y = 1 when x =7, what is the value of y when

x=07?

a)
b)
c)
d)
e)

de\\ :—SCocﬁﬁ; (=i w A)\)

d= Agw.%ci»-
, _=f
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9.

Step 1:

S;c\;é:
Step 3:

Step 4:

Step 5

a

>

C
d)
e)

State the step that has the first mistake in this process:

-—-—-mx " —
J3x4+4 &
1 12x =
12) 3x*+4
1 ((12x  12x) , _
V) é“;f+“4—) =
(¢
%2— %4—3]6) dx =
1 ([ 4 1 _
ﬁ“‘} }-3-) dX“*]"ﬁ (3)6) dx =
: —31?+%x2+c
Step 2
Step 3
Step 4
Step 5

There is no mistake.







12. A particle’s acceleration is given by a(¢) =3¢* +6¢—1 meters per second

squared. At time ¢ =1, the particle’s velocity is 4 meters per second and its
position is 0 meters. Find the particle’s position at time /=2
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14.  Given the differential equation, Zx_y = (y - 1)2 cos(ﬁx)

a. On the axis system provided, sketch the slope field for the % at all points

plotted on the graph.

b. If the solution curve passes through the point (0, 0), sketch the solution
curve on the same set of axes as your slope field.



c. Find the particular solution to Ey = ( y- 1)2 cos(ﬂ:x) with the initial condition

. u
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